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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

52.5
52.5

50.0
50.0
50.0

47.5
47.5
47.5

45.0
45.0
45.0

day
day
day

—&— DUC
—@— FRV
—@— FRC

42.5
42.5
42.5

40.0
40.0
40.0

dFVo
alld—an———ah a0 & @& = L
35.0 37.5 .
[ ]
T T
35.0 37.5
35.0 37.5
[

—o— dFVI
+

o o o
o Mo Mo
T T T T T ™ T T T T T T ® T T T T T T T T ® T T T T T T T T
< N o N < o o o o o o o o o 'e} o ‘el o Tl © o < (5] N — o D
o o o o o o o o o o o o ~ o N o r~ o N < < <t <t < < < ™
. (3p] N N — — N — — — — © © © © © © © ©
| [ o o o o o o o o

52.5

50.0

47.5

45.0

day

42.5

40.0

37.5

35.0

32.5



Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-8

BriE) | GEBAKE) | ERE (EH/AR) (XS R

07:20 273 150.0 BH| FhHA@07:20 KR4ANF2F (KRAEREE)
07:45 273 150.0 FA| HHR@07:45 REMIEHF (RAKLESR)
08:10 273 150.0 FR| FHA@08:10 KRENFZF (ARFIEES)
08:50 273 150.0 FR| FHA@08:50 KRENFZF (KRFAIREES)
09:35 273 150.0 FA| FnHA@09:35 AFFEF (KAERE)
10:10 273 150.0 FA| FHA@10:10 KREFZF (KRFAEES)
10:45 273 150.0 FR| FHA@10:45 KRENFZF (RAAEES)
11:15 273 150.0 FA| FnHR@11:15 REFEF (KAERKSE)
11:45 273 150.0 PA| FhHR@11:45 RHMIEHF (RAKZESR)
12:15 273 150.0 FA| FnHf@12:15 KRFEF CRAERS)
12:45 273 150.0 FA| FnHR@12:45 RFFEF (KAERKSE)
13:15 273 150.0 FA| FhHR@13:15 RHMIEHF (RAKLER)
13:45 273 150.0 FR| FHA@13:45 KRENFZF (KRFAEES)
14:15 273 150.0 FR| FHA@14:15 REIZF (RAAEREES)
14:50 273 150.0 FA| FhHR@14:50 RHMIZHF (RALESR)
15:25 273 150.0 FR| FHA@15:25 KRENFZF (KRFAEES)
16:05 273 150.0 FR| FhHA@16:05 KRENFZF (KRATRES)
16:55 273 150.0 FA| hHR@16:55 KREMiEHF (RALESR)
2it] 4914.0 (18X%) 2700. 0 32 KEC: 2080.0, PH: 5.6

#H[EKRECE (2040.0 vs 5127.0) 35
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P3-8

BfiE) | GEBATK (FY) | EHE (EARA/K) (XS SRR

07:25 278 150.0 (% =| 1Ri%@07:25 Bz (GREERSE)
07:50 278 150.0 & =| 1Ri%e07:50 Bz (kBIEREE)
08:45 278 150.0 & =| 1Ri%e08:45 Bz (KABEREEE)
09:40 278 150.0 (% =| {Ri%@09:40 Bz (KREERSE)
10:20 278 150.0 [ =| {Ri%e10:20 B (GREAERESE)
10:50 278 150.0 & =| 1Ri%@10:50 Bz (kPBEREEE)
11:20 278 150.0 (& =| 1Bige11:20 Bzh (REFRESE)
11:50 278 150.0 (& =| 1BRig@11:50 Bzh (REEREE)
12:20 278 150.0 [ =| Ri%e12:20 Bz (kAEREE)
12:50 278 150.0 |Z=| 1BRige12:50 Bzh (REERESE)
13:25 278 150. 0 El BRi&e13:25 Bz (GRAEREE)
14:00 278 150.0 5| Rike14:00 Bz (REAERS)
14:40 278 150.0 =l RiB014:40 Bz (REAEESE)
15:20 278 150.0 F[ BRige15:20 Bz (GRAERESE)
16:10 278 150.0 = Ri%e16:10 B (REARRESE)
17:15 278 150.0 =l RiBe17:15 Bah (REAEEE)
21t 4448.0 (167%) 2400. 0 3203 KEC: 2080.0, PH: 5.6

#H[EKECE (2163.0 vs 5050.0) 35
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